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Let GH ) = W, .net ) - B .

Then
, we need to

solve 8ft) = 0 ( t -_ tp )

- Bisection method
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Compare Gtfo ) Gita ) with 8h18 It. ) .
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,
then

too = ( to + ta ) 12
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Each iteration needs a numerical method
to get Winvctk) ( SHH)

'

- Secant method
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- Newton 's method

tkti = th -8¥
( d81dt) Ctr)
Win Ctrl - B

= tr. -¥t
'L' How can we get this ?

# ( gets ) = # ( Wi.net ) )

We don't know the function w . .Nlt ) , and

we only know Wi .NHo ) .

- - -

. W , .lv (tf ) ,

pointwisely defined
.

• ¥ ( Ylb ,
t ) ) ( ycb.tl a wink) )

Let z=dY/dt
.

Then .
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.

Shooting method with Newton 's method
.
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Zz
.
.
= 22.0 th ( 60422 , .o ) = I

×

( YC- 1)12=(1/2)
-

↳ 21.2 = Zi
.
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Let 2h be a numerical solution for 2

Using the above procedure .

Then
.
Zn is

depending on t because we approximate
Ycxi ) 2 Wi . -ett ) and Y'( Xi ) I Waitt )

.

Hence
,

that = tr -
Zhltk)

'

Each iteration needs numerical methods
to get Wi .xCtk ) and Zhctk)

.

'


